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Petroleum engineering
Eng 382
Assignment
commandwindow
clear
clc
format long g
elah=xlsread('ass5')
u=elah(:,1)
d=elah(:,2)
d=log(d)
[xr xc]=size(u)
u0=ones(xr, 1)
u1=[u0,u]
ekaesor=regress(d,u1)
elah =

           0           2
           1           5
           2          19
           3          50
           4         151
           5         470
           6        1435
           7        4512
           8       12936
           9       41125
          10      111021


u =

     0
     1
     2
     3
     4
     5
     6
     7
     8
     9
    10


d =

           2
           5
          19
          50
         151
         470
        1435
        4512
       12936
       41125
      111021


d =

         0.693147180559945
           1.6094379124341
          2.94443897916644
          3.91202300542815
          5.01727983681492
           6.1527326947041
          7.26892012819372
           8.4144957931779
          9.46776940125694
          10.6243714880677
          11.6174746515896


xr =

    11


xc =

     1


u0 =

     1
     1
     1
     1
     1
     1
     1
     1
     1
     1
     1


u1 =

     1     0
     1     1
     1     2
     1     3
     1     4
     1     5
     1     6
     1     7
     1     8
     1     9
     1    10


ekaesor =

         0.633465152361569
           1.1046177162803


Published with MATLAB® R2018a

c) commandwindow
clear
clc
format long g
elah=xlsread('ass5')
u=elah(:,1)
d=elah(:,2)
d=log(d)
[xr xc]=size(u)
u0=ones(xr, 1)
u1=[u0,u]
nelson=regress(d,u1)
a0=nelson(1)
a1=nelson(2)
alpha=exp(nelson(1))
beta=exp(nelson(2))
ysim=a0+(a1*d)
ekaesor=corr(d,ysim)
elah =

           0           2
           1           5
           2          19
           3          50
           4         151
           5         470
           6        1435
           7        4512
           8       12936
           9       41125
          10      111021


u =

     0
     1
     2
     3
     4
     5
     6
     7
     8
     9
    10


d =

           2
           5
          19
          50
         151
         470
        1435
        4512
       12936
       41125
      111021


d =

         0.693147180559945
           1.6094379124341
          2.94443897916644
          3.91202300542815
          5.01727983681492
           6.1527326947041
          7.26892012819372
           8.4144957931779
          9.46776940125694
          10.6243714880677
          11.6174746515896


xr =

    11


xc =

     1


u0 =

     1
     1
     1
     1
     1
     1
     1
     1
     1
     1
     1


u1 =

     1     0
     1     1
     1     2
     1     3
     1     4
     1     5
     1     6
     1     7
     1     8
     1     9
     1    10


nelson =

         0.633465152361569
           1.1046177162803


a0 =

         0.633465152361569


a1 =

           1.1046177162803


alpha =

           1.8841280715276


beta =

          3.01807048903391


ysim =

          1.39912780799782
          2.41127878368945
          3.88594461325509
          4.95475507065359
          6.17564134764325
          7.42988269046873
           8.6628431041908
          9.92826627907189
          11.0917309666465
          12.3693341224244
          13.4663334709447


ekaesor =

     1
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e)
[bookmark: _GoBack]it was observed the correlations were the same.
